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SOCIAL WORK
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Group members can help minimize conflict by
(A) creating harmony in the group by agreeing with other group members.
(B) being aware of what stage of group formation the group is passing through.
(C) aiming for cultural consensus.

(D) being respectful of other’s ideas and culture and aiming for consensus.
2. What is the phenomenon of actions that are contemplated only in a group context ?
(A) Group conformity (B) Reference groups

(C) Group think (D) Leadership styles

3.  The special grant for tribal welfare is provided under

(A) Article 245 (B) Article 275
(C) Article 345 (D) Article 325
4. Unorganized sector in India comprises approximately of the working population.
(A) 50% (B) 90%
C) 25% (D) 75%

5.  The systematized and established way of living together is
(A) Society (B) Community

(C) Institution (D) Social structure

6. A couple expressing extreme anger at each other come to a social worker for marital
counselling. The social worker should first

(A) explore the goals the anger is marking.
(B) clarify whether each partner is willing to hear the other.
(C) acknowledge the anger each partner has towards the other.

(D) use the interview to probe for positive feelings each has for the other.
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7.  ‘Ethnocentrism’ means
(A) Superiority of one’s own culture
(B) Inferiority of one’s own culture
(C) Superiority of one’s own class

(D) Inferiority of one’s own class

8. A detailed plan for obtaining data scientifically is called
(A) Sample (B) Experiment
(C) Scientific method (D) Research design

9.  Giving fair share of benefits to members of society is
(A) Retributive justice (B) Distributive justice
(C) Procedural justice (D) Restorative justice

10. Provisions relating to health are given in which chapter of the Factories Act, 1948 ?
(A) Chapter-II (B) Chapter-III
(C) Chapter-1V (D) Chapter-V

11. The policy that deals with the organization of learning and teaching are
(A) Economic policy (B) Education policy
(C) Health policy (D) Hosing policy

12. CSWE stands for
(A) Council of Social Welfare Enhancement
(B) Council of Social Work Education
(C) Centre for Social Work Education
(D) Centre for Social Work Empowerment

13. Model was propounded by Witmer.
(A) System (B) Remedial
(C) Developmental (D) Preventive
14. is also called as neo-conservative approach.

(A) New right approach

(B) Social democratic approach
(C) Radical socialist approach
(D) Feminist approach
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15. In ethnographic studies, case study were first used by
(A) Burgess
(B) Fredric Le Play
(C) Herbert Spencer
(D) Znaniecki

16. is a type of concurrent evaluation study.
(A) Exploratory research
(B) Historical research
(C) Action research

(D) Descriptive research

17. 'Who has written the book “Development Psychology : A Life Span Approach” ?
(A) S. Narayan Rao
(B) Elizabeth B. Hurlock
(C) G. Murphy
(D) B.F. Skinner

18. Gordon Allport is best known for his work on
(A) Personality (B) Suicide

(C) Community (D) Learning

19. “Society has been gradually progressive towards a better state” was said by

(A) Emile Durkheim (B) Auguste Comte
(C) Herbert Bisno (D) Herbert Spencer

20. Albert Bandura has proposed as a key component of human personality
development.

(A) Observational learning
(B) Theoretical learning
(C) Conditioned learning
(D) Operant conditioning
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21.

22.

23.

24.

25.

26.

27.

Coping mechanism is also termed as
(A) Life instinct (B) Fighting
(C) Arguing (D) Survival skills

ADHD stands for

(A) Anxiety Deficit Hyperactivity Disorder

(B) Adolescent Depressive Hyperactivity Disorder
(C) Attention Deficit Hyperactivity Disorder

(D) Attention Depressive Hyperactivity Disorder

Kolhberg was involved in the development of
(A) Theories of moral reasoning

(B) Stage theories

(C) Conflict theories

(D) Transactional theories

‘Grapes are Sour’ attitude exemplifies which defense mechanism ?
(A) Displacement (B) Reaction formation

(C) Identification (D) Rationalization

Ego state referred to by Transactional Analysis Theory does not include
(A) Child (B) Sibling
(C) Parent (D) Adult

Locate the mode from the following :
7,12,8,5,9,6,10,9,4,9,9

A) 9 (B) 85
<) 8 (D) 10

Intrusive thought is associated with

(A) Attention Deficit Hyperactive Disorder
(B) Oppositional Defiance Disorder

(C) Post-Traumatic Stress Disorder

(D) Obsessive Compulsive Disorder
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28. Which is not a purpose of exploratory study ?
(A) Generating new ideas
(B) Increase familiarity with the problems
(C) Determining feasibility of attempting the study
(D) Predicting events

29. Rastriya Mahila Kosh is also known as
(A) National Credit Fund for Women
(B) National Council for Women
(C) National Commission for Protection of Child Rights
(D) Central Social Welfare Board

30. Sustainable development ensures the wellbeing of individual by
(A) Social development
(B) Environmental conservation
(C) Environmental protection
(D) All the above

31. The Indian Civil Rights Act was enacted in
(A) 1958 (B) 1962
(C) 1968 (D) 1972

32. Choose the wrong pair :
(A) Period of Zygote — Pre-natal period
(B) Period of Embryo — Fertilization to second week
(C) Neonate — Infancy
(D) Partunate — Still cutting umbilical cord

33. Which of the following is not a benefit given under the ESI Act, 1948 ?
(A) Funeral Assistance (B) Sickness Benefit
(C) Maternity Benefit (D) Employment Benefit

34. Which is not a mode of settlement of disputes under Industrial Disputes Act, 1947 ?
(A) Conciliation (B) Adjudication
(C) Arbitration (D) Interrogation
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35. The book “Group Processes in Social Work : A Theoretical Synthesis” is written by
(A) H.B. Trecker
(B) Tom Douglas
(C) William J. Reid

(D) Francis J. Turner

36. The Theosophical Society was first introduced by
(A) Madam Blavatsky
(B) Sir A.O. Hume
(C) Surendranath Banerjee

(D) Swami Vivekanand

37. Which is not a technique of interviewing ?
(A) Exploring
(B) Intimidating
(C) Topical shift

(D) Generalization

38. Who was the Chairman of the Poor Law Commission of 1905 of England ?
(A) Thomas Chalmers
(B) Samuel Augustas Barnet
(C) Gordon Hamilton
(D) Edward Edison

39. The book “Social Work Treatment : Interlocking Theoretical Approaches” is written by
(A) Francis J. Turner
(B) Arthur Dunham
(C) Walter A. Friedlander
(D) R.A. Skidmore

40. According to H.H. Pearlman which is not a type of diagnosis in social work ?
(A) Clinical
(B) Dynamic
(C) Etiological
(D) Etimological
Paper-I11 12 D-10-14
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41. Conscientization ultimately leads to
(A) Networking
(B) Planning
(C) Organising

(D) Social transformation

42. Gordon Hamilton propounded
(A) Psychoanalytical Approach
(B) Psychosocial Approach
(C) Problem Solving Approach
(D) Behaviour Modification Approach

43. is the blue print of Research.
(A) Research Design (B) Research Problem
(C) Research Hypothesis (D) Research Tool

44, is a fact finding investigation.

(A) Exploratory design
(B) Intervention study
(C) Action research

(D) Descriptive study

45. The factor which is influenced by other factor is
(A) Dependent variable
(B) Independent variable
(C) Intervening variable

(D) Confounding variable

46. f-test was designed by
(A) R.A. Fisher (B) Karl Pearson
(C) Karl Popper (D) Francis Golton
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47. National Social Assistance Programme was initiated in
(A) August 1985 (B) January 1985

(C) August 1995 (D) January 1995

48. Which is not correct about collective bargaining ?
(A) Itis aprocess.
(B) Itis tripartite.
(C) Agreement is reached by negotiations

(D) Confrontation has no place

49. is also known as Engineering Approach developed by Taylor.
(A) Classical Approach
(B) Behavioural Approach
(C) Development Approach
(D) System Approach

50. The behavioural model is based on
(A) System theory
(B) Learning theory
(C) Psychodynamic theory
(D) Conflict theory

51. Four World Conferences on Women were convened by UN in the last century for
promoting gender equality. Arrange the venues in the order of the year, starting from first

conference.

L Nairobi
II.  Beijing
1.  Mexico

IV. Copenhagen
(A) LIV, I
(B) ILLII, IV
(C©) NILIV, LI
(D) IV, IL LI
Paper-I11 16 D-10-14
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52,

53.

54.

5S.

The order of the Maslow Hierarchy of Needs is
L Deficit needs

II.  Safety needs

III. Esteem needs

IV. Affiliation needs

Codes :
(A) IIL IV, 11, 1 B) LIIL I, IV
O ILLIV,II D) LILIV, I

Assertion (A) : Economic justice is concerned with giving all the members of society a
fair share.

Reason (R) : The possible criteria of distribution are equity, equality and need.
Choose your answer from the codes given below :

Codes :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are not correct.

(C) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(D) (A) is correct, but (R) is not the correct explanation of (A).

Assertion (A) : Series of steps are necessary to deal acute stress.

Reason (R) : Crisis intervention offers immediate help to a person to re-establish
equilibrium.

Choose your answer from the codes given below :

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are not correct.

(C©) (A)is correct, but (R) is not correct.

(D) (A) is not correct, but (R) is correct.

Assertion (A) : Records should neither be too long nor too short.

Reason (R) : There should be certain degree of uniformity.

Choose your answer from the codes given below :

Codes :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(B) Both (A) and (R) are not correct.

(C) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(D) (A)is correct, but (R) is not correct.
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54, AMHUT(A): PSR T & =N Bl AT Bl & |

T (R) : Tehe H EEIRT § AR o Aot Y- et H Tera et & |
T 13T 7T F ¥ Tl I H TI DI
A

(=N

(A) (A) 3R (R) T T E |

(B) (A) 3R (R) I el &l € |
(C) (A) T, AT (R) TEl el & |
(D) (A) W& &l &, oifehd (R) TR € |

55. AfWHUE (A): oREl S Tgd Sl AT Sgd BieT Fél e =R |

aF (R) : STH UHEIT S F AT & AT |
T 13T i W el SR H1 T4 HIT
ETE

(A) (A) 3T (R) I W& € 3T (R), (A) T W& AT |
(B) (A) 3R (R) I el &l & |
(C) (A) 3R (R) IAT Tl &, AR (R), (A) T Tel AT & ¢ |
(D) (A) W&l & AfHT (R) T T T |
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56.

57.

58.

59.

Assertion (A) : Extroverts are often impatient with slow jobs.

Reason (R) : Extroverts have some problems in communication.
Choose your answer from the codes given below :

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are not correct.

(©) (A)is correct, but (R) is not correct.

(D) (A) is not correct, but (R) is correct.

Assertion (A) : ‘National Policy on Empowerment of Women’ (NPEW) aims at
advancement and development of women in India.

Reason (R) : PRIs have been assigned important role in NPEW for enhancing
women’s participation.

Codes :

(A) Both (A) and (R) are wrong.
(B) Both (A) and (R) are correct.
(C) (A)is wrong, but (R) is correct.
(D) (A)is correct, but (R) is wrong.

Assertion (A) : SEWA is the only Trade Union in the unorganized sector by women.

Reason (R) : Women can and do build strong, vital organizations around issues
relevant to them.

Codes :

(A) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C©) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.

Assertion (A) : According to Payment of Bonus Act, an employer shall pay atleast
8.33% of wages as Bonus to the eligible employees.

Reason (R) : 8.33% of wages denotes one month wage earned by the eligible
employees.

Codes :

(A) (A) and (R) are true and (R) is the correct explanation of (A).

(B) (A) and (R) are true, but (R) is not the correct explanation of (A).
(C©) (A)istrue and (R) is not true.

(D) (A) and (R) are false.

Paper-I11 20 D-10-14



56. AMUHUT (A): SleqE! AN 99 B F U SR e S € |
T& (R) : et AR S THTOT Hl P GHETT &l € |
T 15T 7T F T Tel I H TI DI
T

(A) (A) 3R (R) 3T T&E |

(B) (A) 3 (R) I W&l & € |

(C) (A) Tl & AfehT (R) W&l &I & |

(D) (A) T& &l &, AT (R) WeT € |

57. AWMU (A): T Tieel TSR Al (TT.0T$8Y,)” o 3299 9RA H Higersl S S+

R T T |

T (R) : . 37,377, I AEeTST i HATHTAT St I & 6T .91 .2 5 § Hewaqut e
YR TEE |

kT

(A) (A) 3R (R) I TAT E |

(B) (A) 3R (R) I W&l € |

(C) (A) ToHd €, Al (R) W & |

(D) (A) WEl g, Al (R) T € |

58. AfumuR (A): SIRAT % folw TRETied 9T § “Far (SEWA) & THAE ¢S JHa ¢ |
T (R) : Tt T fovat o) TSte ST ST Wehdl & 3TeaT S QTR S ohell & |
B

(A) SHT(A) 3T (R) T& & 3 (R), (A) l el AT T & |

(B) M (A) 3T (R) Wel & 31X (R), (A) Tl el = FaT ¢ |

(C) (A) T, Al (R) Tq € |

(D) (A) T €, Al (R) T & |

59. WU (A) : IHE JTAH ST & SER U AT S, 5 F T 8.33% 316 / AT AHh

3k AIG BT YA AT STEITH ¢ |

& (R) : 8.33% TSTEL T U Ueh IR/3TE A §RT U fohal ST el Ueh W18 b ASTGl
TET I

ETE

(A) (A)TE (R) T € T (R), (A) Tl A=A E |

(B) (A)Td (R) A € Al (R), (A) Tl Tel AR T&I & |

(C) (A) T, Al (R) Tq & |

(D) (A) T (R) HTAE |
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60.

61.

62.

63.

Assertion (A) : Aversion therapy helps in modifying the behaviour by providing
rewards.

Reason (R) : The removal of the positive re-enforcement or averse stimuli may be
involved in reward system.

Choose your answer from the codes given below :

Codes :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (B) are not correct.

(C) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(D) (A)is correct, but (R) is not the correct explanation of (A).

Assertion (A) : Code of Ethics in social work profession is important and essential.

Reason (R) : Code of Ethics evolves as situations present themselves and needs are
identified.

Codes :

(A) Both (A) and (R) are correct.
(B) (A)is correct, but (R) is wrong.
(C) (A)is wrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

Which among the following is not the correct matched ?
(A) Freud — Psychoanalysis

(B) Adler — Achievement Motivation

(C) Jung — Understanding the Collective Unconscious
(D) Lewin — The Life Space

Match the following persons List — I with the area they are associated with List —1II :

List -1 List - II
a R. Titmas i. Social Group Work
b.  C.R. Banerjee ii.  Social Policy
c Sunderlal Bahuguna iii.  Social Case Work
d. P.R. Balgopal iv.  Environmental Movement
Codes :

a b c d
(A) i i v i
B) i v il
© i iiiv i

D) i i v i
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60. AMHUT (A) : TIEH IUIR, [EHR T, SR o TNAH o § ek el & |
T (R) FHRTT REThGE= i g2 31X fawid el ol [RER & 7 § fod ST &
TS Tl & |
ETE
(A) ST (A) T (R) W&l € 3R (R), (A) T T& ARATE |
(B) 3 (A) W (R) TF F&I € |
(C) THI(A) TE (R) T € WAl (R), (A) T Tl AR &I & |
(D) (A) T &, AT (R), (A) Sl Tel A TéI € |

61. IAMUHET (A): THSHE FTH § AR Hiedl Hewaqul Ue 3Teva & |
& (R) : MR e & IRl s SucTeddr Te 2Ma9aehar 1 Tea GHied € |
TN

(A) ST (A) 3R (R) TAE |

(B) (A) W &, AT (R) TT T& & |

(C) (A) T &l g, AT (R) TAE |

(D) SHT(A) T (R) T T& € |

62. TrefoiEd ¥ ¥ i o H& 7ol T ¢ 2
(A) WES — TG v
(B) TS — YAl IORF
(C) IT - IS T Hf qHA
(D) WfEad - 3T St

63. I H fSU MU AT B GE-11 | ST T 36 Talg & F G i
-1 ER-IT

a. I fezaw i. g 9E s

b. TR TSI ii. QST i

c. YRIETeT SgIom iii. QT AT S
d. W SO jv.  JEERor et TiRie
ETE

(A) i il v

@) i iv il i
©) i il v i
D) i i v i
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64. Match the List — I with List — IT and select the correct answers from the codes given below :

List -1

a.  Basic needs approach i.
b.  Acceptance ii.
c.  Participatory approach 1il.
d.  Social learning 1v.
Codes :

a b c d
(A) i i i v
(B) iv i i il
(©) iii i iv il
(D) iv il i il

List — IT
Begin where the client is
Pre-requisite to problem solving
Rural development
Modern approach

65. Match List — I with List — IT and select the correct answer from the codes given below :

List -1

a.  Perceptual skills i.
b.  Cognitive change skill ii.
c.  Support networking skills 1ii.
d.  Problem solving skills 1v.
Codes :

a b c d
(A) i i i v
B) i v i il
© 1 i ivoii
(D) i i v il

List - II
Problem situational challenges
Strengthening external support
Restructuring thoughts
Decision making

66. Match List — I with List — II and select the correct answer from the codes given below :

List -1 List - 11

a.  Social goal model i. Change agent
b.  Reciprocal model ii.  Sensitivity training
c¢.  Remedial model iii.  Mutual aid
d.  T-group model iv.  Enabler
Codes :

a b c d
(A) iv i i ii
B) i Qi v i
(C) i i v i
(D) iv i il

Paper-I11
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64. G-I B G-Il ¥ GATCAT PN ST A ST T el T el I T T4 BT -

(A)
(B)
©
D)

65. G-I B G-Il ¥ GATCT HINTT ST A ST T el T el I T T4 BT -

e o T

ETE

(A)
(B)
©
D)

66. TEI-1 HT FeI-11 ¥ FATAT HITT ST A ST T el T Fel 3T HT T4 BT

e o TP

(A)
(B)
©
D)

D-10-14

Y oo oo

a b c d
i i iv
iv i ii iii
iii i iv ii
iv ii i iii

-1
TR 19T
TRTCHS IRE HIvTe
T PITET T STMER ST
LT GHTY DA

b c d
i i iv
iv il iii
i v ii

e T S O )

i iv i

-1
GrITTeh e Higet
IR e
STARIHE HISel
21-9E Higet

a b C d

iv i i i
i v i
i i v i
v i i

ii.

1il.

1v.

iii.

1v.

ii.

iii.

1v.

-1
STEY e & Rt 9 IqE |
TETT QT T e
7T R

Y IUTH

-1
g feafast=r gt
FET 3R T g& HXAT
T T e foar
for &

-1
IR B
ECES NI IRe NS
TRER TR
9 S are
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67. Match List — I with List — IT and select the correct answer from the codes given below :

List -1

a The Gratuity Act
b The Employment Exchange Act
c.  The Payment of Wages Act
d.  The Indian Mines Act
Codes :

a b c d
(A) iii v i ii
B) 1 i i v
©) iv i i i
D) 1 iv i il

ii.
1il.

iv.

List - IT
1936
1952
1972
1957

68. Arrange the following Acts in the order in which they were enacted :

L The Industrial Disputes Act

II.  Trade Union Act

III. Employees State Insurance Act
IV. Equal Remuneration Act
Codes :

(A) LILII IV

B) ILLIIIV

(©) HOLILIV,I

(D) IV, ILILI

69. Put the following steps in the process of Participatory Rural Appraisal in sequence :

L. Use of tools

II.  Report generation
III. Rapport building
IV. [Initial contact

V.  Sharing the learning
VI. Participating Action Planning
Codes :

(A IV, ILLIL V, VI
B) IV,ILILILV, VI
©) ILIV,ILILV, VI
(D) IV,LIULIL V, VI

Paper-I11
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67. I B G-Il ¥ GATCTT PN ST A ST T el T el I T T4 BT -
1:!3&_

ISH

(A)
(B)
©
D)

68. T AT I 36 T & HHHAR (Teet ¥ 91%) FaAerd Hifsd |

L
IL.
I1I.
IV.

ETE

(A)
(B)
©
D)

69. TRl TTHIOT HodiehT (PRA) WThaAT o =RUT T SFATAR SAaed i |

L
IL.
II1.
IV.
V.
VL

ETE

(A)
(B)
©
D)

D-10-14

-1
SR Saad
USHIR AT SArafam
SR We ATy
TR T 3Taag

i v i ii
i 1 i1l v

iv i i i
1 iv il ii

SN Taang ttatTaw
R-EE AIH

T HIHe ST AT

T dd 3T

I o nr 1Iv
II I o I

m mo 1w I
Iv. 11 1II I

TEFT B IFRT
Rt gom
AR (XT) T
T IR

AT T 3R USH
T i e

Iv. 11 I II
Iv 11 1 I
n I1v I I
v I oI I

1l.
1il.

1v.

< < < <

1936
1952
1972
1957

VI
VI
VI
VI

1I
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70. Arrange the following reform movements in order in which they appeared. Use codes
given below :

L Ramakrishna Mission
II.  Swadeshi Movement
III.  Arya Samaj

IV. Brahmo Samaj
Codes :

(A) IV,LILII

B) IV,ILIL 11

©) IV, ILLII

(D) LILILIV

Read the passage given below and answer the following questions as per the understanding the
passage : (Q. Nos. 71 to 75)

India is a country of myriad contradictions. On the one hand, it has grown to be one of the
largest economies in the world, and an increasingly important player in the emerging global
order, on the other hand, it is still home to the largest number of people living in absolute
poverty and the largest number of undernourished children. What emerges is a picture of uneven
distribution of the benefits of growth which many believe, is the root cause of social unrest.

Companies too have been the target of those perturbed by this uneven development and as a
result, their contributions to society are under severe scrutiny. With increasing awareness of this
gap between the haves and the have-nots, this scrutiny will only increase over time and societal
expectations will be on the rise. Many companies have been quick to sense this development,
and have responded proactively while others have done so only when pushed. Governments as
well as regulators have responded to this unrest and the National Voluntary Guidelines for
Social, Environmental and Economic Responsibilities of Business and the CSR clause within
the Companies Act, 2013 are two such instances of the steps taken.

This combination of regulatory as well as social pressure has meant that companies have to pursue
their CSR activities more professionally. There is a need to bring together good practices of
companies and grant-making foundations so as to assist companies pursue their CSR activities
effectively, while remaining aligned with the requirements of the Companies Act, 2013.

The concept of CSR has evolved and now encompasses all related concepts such as triple
bottom line, corporate citizenship, philanthropy, strategic philanthropy, shared value, corporate
sustainability and business responsibility. CSR is “the responsibility of enterprises for their
impacts on society”. To completely meet their social responsibility, enterprises “should have in
place a process to integrate social, environmental, ethical human rights and consumer concerns
into their business operations and core strategy in close collaboration with their stakeholders”.
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70. TAfGRET GUR STRIeH! P 96l § 91 & HAMER AR Hif :

I HFHwT e

I &l e

L. 37 FEt

IV. & §as

T

A IV I I I
@ IV 1T I 1
(C IV m 1 I

@ I m 1 IV

e Teer Bt ufeT @ TR % ofd W U T USAr T Ul THET h YR W I ST
(9 & 71-75)

IR ST [oRTETT T 397 & | Ush O ol 7 [avel St o Jex Sl & &9 H {aehiad &
TR & T forvd T SYRAT g% Ush Hewoqul Vifek & &0 H G €, af gEdt 3R FRT ondt off WY T # quid:
RIS AT 7@ @ & 91 W1 B STequiie el ohl Walliaeh G o 98 € | 36 T I SV S HE AT €
Toh et foreprar o o b1 STmT TaeRoT €, 518 S | T |THTSTeh 3TEAT 3BT ot R0l I € |

T A T & AT T IR hutar st off EFT TSl & 9 398 TS & Uid S99 IIeH i
TSR Hellell Ft A & | STHR T TG AT o a1 9 @l 30 @TE o ai | SN &l Sgal STedhal 9 3R
TG A & WA FE Gl off 3 FHSR ERT U HulAr s I SR 3R aE | 39 Wl
ATqHY HE HUFET = AT TR I 31T ST WAThaT =k bl &, STafh 9 a9 ehd | 3T & 59 3
79 fo9n o FEaE 3 o [0 oo fohar T | 39 a9 ad famen = ot e fear & aer 5
foom ¥ o T Rl H e & WIS, GRS 9T 3N ST % e e [GnesT
3T AT STffam, 2013 | SO WIS SRR (H.0H.3TX) TS, 31 U9 SR & |

fafames qon WM a| & Qe Bl 9RUMY I8 geT fo 31d SHuf-al & 310 H.U9.3TR,
HEFHATT T 3T TS TRIch & AT G | HUHAT Bt TS UGl T SR GO TR
FETET AT €I Al ST 3T 370 TG, 3R, IEheldl sl BRI 3R a@mdl &1 ¥ Toi- § 05s Hel
Tk 3T G & 9T HUTA, T ST, 2013 T TS & Q1 S F |

T, R AT, Qe Yod, HUAT AR q9 SAaRas ST Sl Fag Ronst S o qH7eT
T | OO, SR, “HS TR STHAT % W 8 SR STREA &7 | 30 WIS STREIE hi 917 A &
foIT Sefat ot 3T YRR & T oo e TeTe a9l JoT g § |TIeish, qareRona, Hids
TR TAT ST i FEITati s Qrwferd e i Ufsham STOAHT art |

D-10-14 29 Paper-111




71. The social expectations about the contribution of companies have increased due to

(A)
(B)
©
D)

Increasing awareness of people
Increasing gap between haves and have-nots
Uneven development

Increased societal pressure

72. The root cause of social unrest in India is

(A)
(B)
©)
D)

Abundance of population living in absolute poverty.
The uneven distribution of the benefits of growth.
Large number of malnourished children.

Increasing gap between haves and have-nots.

73. Companies are expected to pursue CSR activities professionally due to

(A)
(B)
©
D)

National voluntary guidelines
Regulatory and societal pressure
Requirement of Companies Act, 2013

Good practices

74. The CSR activities of companies can be made more effective and professional

(A)
(B)
©
D)

by meeting social responsibility
by exempting them from requirements of the Companies Act, 2013
by encompassing triple-bottom line and strategic philanthropy

by bringing together good practices of companies and grants-making foundation

75. In order to meet their social responsibility, companies should

(A)
(B)
©
D)

Paper-I11

pursue sustainability
be philanthropic in approach
work in collaboration with their stakeholders

encompass corporate citizenship
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71.

72.

73.

74.

75.

AT & TR % SN H WIS ST Hfarad § 9 e SR 9@t € 2
(A) TR I St STTehar

(B) 3 qen TR A o | dedt @rg

(C) A foem

(D) gl g3 QA Sare

IR H QIS ST T Gl HROT (rarad 5 9 7 & 2
(A) Fga™Ed AN N qord; TS H ST |

(B) fah™T o T T STHAM {aaRoT

(C) T T | STeauii sl & g

(D) 3R q TR A % dr et @

ffefad o & fohg HRoT Hul-= O 98 3T9eT 0 St ¢ o6 F Aaaas 9 ¥ 9.09.31R, Hweri
H A 2

(A) T Wi g e

(B) fafTames qer | ame

(C) AT ARIFEH, 2013 i STevHaT

(D) 7=t gBhEt

ST o GTTF, 3T, HIIHATT Sk HRIR T SR S ST Tl &
(A) I SALEIIE T FeF |

(B) 3¢ U AT, 2013 Tt STERAT H B URH HH |

(C) TI-TR =Ty aeT qem JieRgul THayT 1 FHEs Fe |

(D) T ot TS TFIAAT qAT SR G SR S FHAY K |

ST i ST HITTR STRENTE [ A & ol FHrerad § § a1 AT a1e 2
(A) gRUTEA W &H ST |

(B) 370 Sfteehivr | WIESHT B |

(C) 370 TERRT o T FedNTIoT i T |

(D) U ARTRERAT T THTAT HET |
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SUBJECT CODE & NAME:-(10)Social Work

| ONO ANS | QNO ANS | QONO ANS | QNO ANS |
1 b 26 & | s1oc o8
2 a 127 b | 52 b | 7 1
I3 B 128 b | 53 A | 78 |
|4 B 120 A 1 54 oA | 75 |
I s ¢ 130 b 155 c | s |
|6 c 131 c 156 c | o8 |
7 oA 132 B | 57T B | 82 |
| 8 D 133 D | 58 B | 8 |
I e B 1 34 D | 59 A | 84 |
|10 B | 35 B | 6 B | 8 |
1B | 36 A 1 el A | 8 |
12 8 | 37 B 1 e B | 8 |
113 B 1 38 c | 6 A | 88 |
|14 A | 35 a | e c | 8 |
|15 b 1 40 b | 65 A | %0 |
16 c 1 41 D | 6 A 1 9 |
17 B 142 c o oen A | %2 |
|18 A | 43 A | 6 B | 9 |
|19 b 1 44 b | 69 A | %4 |
120 A | 45 & 1 70 ¢ | 95 |
21 D | 46 A 1 71 A | % |
22 ¢ 141 ¢ 172 B | 91 |
|23 A 1 48 B | 73 B | 98 |
|24 b | 49 A | 74 D | %9 |
|25 B | 50 B | 75 ¢ |10 |

Z=ALL OPTIONS ARE CORRECT/ 1=A & B OPTIONS ARE CORRECT/ 2=A & C OPTIONS ARE CORRECT/
3=A & D OPTIONS ARE CORRECT/ 4=B & C OPTIONS ARE CORRECT/ 5=B & D OPTIONS ARE
CORRECT/ 6=D & C OPTIONS ARE CORRECT/ 7=A, C & D OPTIONS ARE CORRECT/ 8=A, B & C
OPTIONS ARE CORRECT



